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PHILOSOPHY — HONOURS
Paper : DSE-A-2.1
(Western Logic - II)

Full Marks : 65

Candidates are required to give their answers in their own words
as far as practicable.
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[English Version]
The figures in the margin indicate full marks.
1. Choose the correct option (any fen) : 1x10
(a) Words and terms are not the same. — This statement is
(i) True (i) False
(i) Undetermined (iv) None of these.
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(4)

(b) The term ‘Man’ can be logically characterized as :

(i) concrete, absolute (i) general, distributive
(iii) simple, connotative (iv) All of these.

(c) Who among the following admits differentia as a predicable?

(i) Aristotle (ii) Porphyry
(ii)) Both of them (iv) None of them.
(d) What kind of terms are — ‘Greater-Lesser’?
(i) Designation term (i) Non-designation term
(ii) Relative term (iv) Correlative term.

(e) How many predicables are admitted by Porphyry?
M1 (i) 3
(i) 5 (iv) 7.
(f) ‘Genus is one part of essence.’— Whose view is this?
(1) Mill (i) Joseph
(i) Porphyry (iv) None of them.
(2) ‘Adjectives are neither concrete nor abstract.’— Whose view is this?
(1) Mill (ii) Joseph
(iif) Porphyry (iv) None of them.
(h) “We seldom predicate about the words.”— Who says this?
(1) Mill (i) Joseph
(i) Porphyry (iv) None of them.
(i) Which of the following denotes logical division?
(1) A thing into its qualities (i) A thing into its parts
(i) Both of these (iv) None of these.
() Gold is a very expensive metal— is an example of which definition?
(i) Accidental Definition (i) Inessential Definition

(i) Both of these (iv) None of these.
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(k) How many rules of division are there?
@ 1 (i) 2
(i) 3 (iv) 4.

() Aristotle is the chief protagonist of which theory of definition?

(i) Essentialist theory (i) Normative theory
(i) Prescriptive theory (iv) Linguistic theory.
2. Answer any five questions : 5%5

(a) Explain, with examples, the difference between categorematic and syncategorematic words.
(b) What is a predicable? Explain the theory of predicables given by Porphyry.
(¢) Explain the distinction between the following terms :

(i) ‘Death’ and ‘The death of Caesar”

(ii) “Man’ and ‘Humanity’.
(d) Make a distinction between terms of thought and terms verbal.
(e) Distinguish between property and accident.
(f) Determine the logical character of the following terms :

Man, Student, Dishonesty.

(g) Are concept and thought identical? Discuss.
(h) Evaluate the following divisions :

(i) Religion into Christian, Muslim, Hindu and Parsi religion

(i) Man into civilized and uncivilized.

3. Answer any two questions :
(a) (i) Determine the logical character of the following terms :
The first President of India, Death, Equivalence.
(i) Show the distinction between following two judgements :
(1) A cabbage is a vegetable
(2) To doubt is to think.
(iify Distinguish among positive, negative and privative terms with examples. (2x3)+(2x2)+5
(b) (i) Explain and illustrate the rules of definition.
(ii) Evaluate the following definitions :
(1) Men are intelligent and truthful beings.
(2) Knowledge is the light of the soul. 12+(1%%2)
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() () Distinguish between abstract terms and concrete terms. Explain how both these terms can
be divided again into singular and general term.

(i) Point out the metaphysical antithesis involved in this scheme. 10+5

(d) What is division by dichotomy? Give examples. Is it always satisfactory? Discuss. 4+3+8




